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QUESTION 1

A newly installed TS7720 Virtualization Engine has recently been integrated into a three-way grid. The logical volumes
created in the other two systems are not properly being replicated to the new system. All local IBM and customer
support resources have been exhausted in trying to determine the cause with no resolution in sight. What should be the
next step to try to resolve the issue via IBM?

A. Contact local PSR to escalate

B. Contact the local SSR to escalate

C. Contact the sales representative to escalate

D. Contact the local software provider to escalate

Correct Answer: C

QUESTION 2

After a requirements analysis including the use of the Batch Magic tool, it has been determined that a TS7740 four-way
grid is the most appropriate solution, with two clusters in each of two sites. The customer wants to have four copies of
the data, (one in each cluster), but also to minimize the data sent over the network between the sites. What is the best
way to setup the TS7740 Virtualization Engines to achieve this?

A. Setup cluster families

B. Set up 400 MB logical volumes

C. Set up Selective Device Access Control

D. Set up two two-way grids and write two copies of the data as before

Correct Answer: A

QUESTION 3

A customer has two TS7740 V07 at Release 3 in a two-way grid across two sites. There is a new requirement for a
subset of the data created in Site A (Cluster 0) to be written in both sites but to be in Site B (Cluster 1) at the end of the
job. What method is best employed to achieve this with the least impact on the batch run, and at the lowest cost?

A. Setup a policy for the data creating a copy consistency of RR in Site A

B. Setup a policy for the data creating a copy consistency of RD in Site A

C. Set up a policy for the data creating a copy consistency of DR in Site A

D. Connect Site A to the TS7740 in Site B with two PICON channels and run the jobs using logical units on Site B

Correct Answer: C
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QUESTION 4

What is the key advantage of the IBM TS7720 over the EMO DLm?
A. Larger maximum capacity

B. Virtual drive scalability up to 256

C. Supports bi-directional replication in a grid

D. Deduplication which does not use hashing algorithms

Correct Answer: C

QUESTION 5

A customer is attaching a TS7740 with six TS1140 drives to an existing TS3500 which is used for open systems. The
new tape drives and switches will be installed in an existing D23 frame with two TS1130 drives installed. What
significant change does the customer need to be aware of with this installation?

A. The existing TS1130 drives will need to be upgraded to TS1140

B. The TS3500 will need an additional enhanced frame control assembly (FC 1451)

C. The TS1 130 drives will have to be removed and installed in another frame of the TS3500

D. The power requirements change and the power cord of the existing library frame must be upgraded

Correct Answer: D
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